Parent Signature: _______________________________________________________________

Name: _______________________________________________________ Period: __________

Common Core Math 8 Unit 5 Review Sheet

Directions: Solve each equation. 

1) 
2) d + 8 = –22
3) 

4) 15x = –75







Answer: ___________
Answer: ___________
Answer: ___________

5) 
6) 7v + 3 + 5 = –6v – 5
7) –6(3r – 7) = 168







Answer: ____________________________
Answer: ____________________________

8) 
9) n + 2 = 2n + 6
10) 2(–5 + 7n) = –94







Answer: ____________________________
Answer: ____________________________


Directions: Solve each equation. 

11) 
12) 

13) 3.6y = 5.4 + 3.3y
14) 








Answer: ______________
Answer: ______________
Answer: ______________
Directions: Decide whether each equation has ONE SOLUTION, INFINETELY MANY SOLUTIONS, or NO SOLUTION.  If the equation has ONE SOLUTION, write the solution. 
 
15) 
16) 18x – 5 = 3(6x – 2)
17) 9 + 5a = 2a + 9
18) 3(x – 4) = 3x – 12
19) 

[bookmark: _GoBack]



Answer: ______________
Answer: ______________
Answer: ______________



14) You have a coupon worth $350 off the purchase of a new television.  At the same time, the television is offered with a discount of 40% but no further discounts may be applied.  For what tag price on the television do you pay the same amount for each discount? 



Answer: ___________________________________________________________________


20) Mary is a salesperson who is paid a salary of $600 plus 7% commission.  Write and solve an equation to determine how much Mary much sell to earn $1671 this month.  





Equation: ________________________
Answer: _________________________





21) One health club charges a $44 sign-up fee and $30 per month.  Another health club charges a $99 sign-up fee and $25 per month.  For what number of months is the cost the same? 







Answer: ___________________________________________________________________
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